IEFAHS: 300115 IR KBREE NGRS 2024-19

AT KEBREEARRBERLF
X T2023F BRI THIAS B E DR A A&

Apw pHER B RARIEA S AR, M. 28, &f
REABICE . R I MR B KR .

BN K BREFE AR AR AF CLURHAR “A8”7 ) 7202443718
HAFREANREF BT IR, FHE0EE 1 G2 R 20235 A 7 B il
KRR BARTEILLT

» M IERREAE L

WRAE KA THMF S IT CReR @ &0 HERMER (2024) 3-31 S
iHRdr, AH] 2023 FEESEHUA G T T A w BRI A 8, 570. 28 FITG, H
HRES w] SEIR ) RE -10, 924. 95 F5 6. AR 2023 45 12 H 31 H, AwEIE
R Bl (A EANE A 175, 807.59 Jigt, A BEAE Rtk o BORE
127, 724. 89 Ji 7T,

IR AT LG EE, HEEPEIELS (AR ERSIH3S—
EW ARG (ARIER) FEMIME, LZEHEA R SEREE MARKRK

JRIGIL, AfEm AT M A @, RIEA R A= 48 I IR BT AR R AR K
TR R, 20234 FEA AT IG5 41, TRANEAT BE A 0 RG34 e AR Bl FL At 2 =X
(I 43 i

T\ 20234 BEAATANE AR R

AR RS I B B R 5 R Tt — 2D S BT A R4 40 41 R I
FraEsEny B ARIEERGIHEIS—— B AR &S 4) M (AR FERE) (A
A ARSR ZAE (20234F-20254F) B AR 4LIRIRIIKIY S00MH SR, AR AL
G TC I TR ATE FE RN 45 % 5 P AR B [, [ o e o3¢ % 5 () AR 2 B A A 1)
K3zt ) i FH T RESE AR I JE U o [RIET, B4 90 410 0 S At A2 4 JE2 S BRI ] 4 T R i
NIEME, HILEREW 2 A F Rr8: 28 KR R




KIARASK, AR B s s Bk, ST HiARL T HEER R, %
FEF A T ARG BS80S BT 45 (M 75 SRR, b i Kz % e e ) N7 A
BeJ), SRR KRR ARRI G R, A E HF o1l 202345 B AN HEATRIE 4 I
AN AANRG LI A, DISSIA R RRSE, FasE . R, N E R AT
INASTE « KA R4 o 202348 AN HEATRIE 20 O AT & M OSVE R A (A R FE )
(AFIARAK= (20235-20255F) B AR 2L RIHRALRID HIFLE .

=\ AEIRSEFEK S AR TR

N AR S EC RS T AR R A= 208 sl B4 K,
RAF HEAEETE, REA R IEE R EE T KR, A A5 B 24
FELLSEFE L A5, 2 w8 — 0 B M E 00 LA 4 23 40 5 3 4% 58 2 a8k 47 [
B, TR IZ AR SR EIE I A K (AR ERE) (A FIRR=4F (20235-20254F)
2R IR BRLE , 256 2% RS RNE o BUAH DG & Rl R 2, AT 2 711
FE S EBR, SHREELZ AT R BB,

M. &R

1. EHREEW

B2 BB 7O T A 202 34F R AL R MR, IR 0K 2023
A BE I 3 BC TR B A T AR K B

2. WHEXEW

GH%, WHESNN, EHESTRHIA T 20234 FE AT R 73 Bt A58 S H
RVEHE VERL S (AT ERE) SEHCHE, FF6 A F) B R J s A1 S bR 8 1
Bl BT A A R AR KR, AAFELES T A 1 AR 0 Hot /NI 2 R 3 1 17
Do

h. &EX

ERYINTH A BRS S BORIBAR A7 BR 22 7]
E OH =
—OZNE=HA+I/\H



